PYROBOACTBO MO 3KCMNAYATAUNN

operation and maintenance manual

oS TADIO

UWNITUHOPUYECKAA MPUCTABKRA
CYLINDRICAL STAGE

[

Mmotive
power hanpmitiion



motive

ABTOpPCKME NPaBa Ha MHCTPYKLMIO NO 3KCMyaTaunu NPUHAANEKAT KOMMNaHWK
PYKOBOACTBO MO MUCMO/Ib30BAHUIO HE MOXET BbITb MCNOAb30BAHO YaCTUYHO UM MOAHOCTLIO 6e3
Halero paspeLeHmna B Uenax KOHKYpPca Ui NepeaaHo B NONb30BaHWE TPETbMM MLAM.

MpaBo Ha U3meHeHne MHGOPMaL MK, KOTOPaA yKasaHa B MHCTPYKLMM NO 3KCNIyaTauuK, YaCcTUYHO MK
NosHOCTblo 6e3 npeaocTaBneHUA N06Oro yBeAOMNEHNA 40 WAW NPABO Ha NOHOE U3MEHEHUE U OTMEHY
COXPAHAIOTCA 32 HAMM.

The copyrights of this Manual belong to Motive Srl.

This document cannot be used partially or fully without Motive Srl permission for competition purposes or
copied or submitted to the use of third parties.

The information stated in this manual cannot be modified, partially or fully, without Motive Srl permission



FMABHAA UHOOPMALIUA

OTO PYKOBOACTBO MONb30BATENS NOLATOTOBMEHO HALLEN PUPMOIA, 4TOBbI
NpefocTaBUTb MHOpMaLWMo 0 6e30nacHoN TpaHCNOPTUPOBKE
penyKTopa, XpaHeHuu, YCTaHOBKE / MOHTaXe, MOAKIoYEHH,
aKkennyaraymu, 0bcnyxmBaHum 1 peMoHTe. Bee faHHble 0 NoKynke 1
TEXHUYECKNE JaHHbIE pa3MeLLeHbl B KaTanorax npoayKLuu.
TMoMUMOMHXEHEPHBIX NPUNOXEHNI, MHOPMaLWS, CoaepXKaLLascs B
9TOW UHCTPYKLMMN, SOMKHA ObITb BHUMATENBHO NPOYUTaHA 1
npumeHeHa. [lokyMeHTbI JOmKHbI BbITb NOATOTOBNEHbI

K KOHTPOIO YMOMHOMOYEHHBIM NULIoM. MHdopmaLmio 06
3neKTpoaBUraTene MOXHO HalTU B MHCTPYKLWK,

MOArOTOBAEHHOW MOTOPOCTPOUTENBHON (HUPMON.

[Mpopykums Motive npeaHasHayeHa Ans UCMonb3oBaHUs Ha
KOMMEPYECKIX NPEaNpUATUSX U SKCMIyaTUpyeTcs B COOTBETCTBUM
C [eNCTBYHOLMMI CTaHAAPTaMU U UHCTPYKUMAMU. TexHndeckue
XapakTepucTUKW W paspeLUeHHble YCOBUS UCNONb30BaHNS
pasMelLLieHbl Ha Bknaake «CMaskay 1 B pyKOBOACTBE MO
MCMOMb30BAHWIO NPOAYKTa.

OTO PYKOBOACTBO MO SKCMTyaTaLyy MOLTOTOBMEHO HaLUeln (upMoii
B COOTBETCTBUM C VHCTpYKLMSMU Mo 6€30MacHOCTY MaLLMHHOTO
obopynosanus Esponeitckoro Cotosa 2006/42 / EC 6e3 yueTa
2014/34 | EU «PykoBOACTBO MO MHCTPYMEHTaM, UCMOMb3yeMbIM BO
B3pbIBOONACHO Cpefie, U 3aLLMUTHbIX CUCTEMAX».

MHdopmaumsa no TexHuke 6e3onacHoCTU

B penykTopax/MoTOp-peayKTopax M 3NeKTpOMOTOpax MoryT bbiTb
aetanu, noABepXeHHbIE HanpAXeHWto, NoABWXHbIe AeTanun
ropsyune 4actu. C Yy4€TOM 3TOro BCe NpoLecchl: npn
TPaAHCNOPTMPOBKE, XPaHEHUN, a3MELLEeHNA, MOHTaXa, NOAKMIYeHUs,
aKcnnyatauun, TeXHUH4eCckoro OGCJ'Iy)KVIBaHVIﬂ W PEMOHTa AOJTKHbI
BbINOMHATLCA KBaJ'IVId)I/ILWIpOBaHHbIMVI COTPYAHMKaMKU K
OTBETCTBEHHbIMW PYKOBOAUTENAMU.

UHdopmaums, koTtopon Heobxoanmo
pykoBoACTBOBaTbCS B Te4eHUe paboyero nepuoaa

o COOTBETCTBYHOLLME UHCTPYKLMK MO UCTIONB30BAHMIO 1 OBCTYKUBaHUIO,

o [peaynpexaatolme n MHOpPMaLMOHHbIE TabNUYKK Ha pefyKTope
| MOTOp-peayKTOpe,
® HCTpyKUUM 1 TpeBoBaHHs, OTHOCSLLMECS K 0BOPYAOBaHHIO,

e MeCTHble 1 MeXOyHapoaHble TpE6OBaHVIF| k 6e3onacHocTy 1 3awute

OT HeCYacCTHbIX Clly4aeB.

Hawa ®upma He HeceT OTBETCTBEHHOCTHU 3a
peanu3auunio nepevyncrieHHbIX HNXe NYHKTOB

e HapyLueHure npaBun TexHUKK Be30MacHOCTH 1 OXpaHbl Tpyaa

B peaykTope / MOTop-peaykTope

e HenpaBunbHoe 1CMoNb3oBaHue (MICMoNb3oBaHue, KOTOPOe HE ykasaHo
B PYKOBOACTBE M BCE BUAbI UCTIONb30BAHWS, 38 UCKIIOYEHNEM 3HAYEHWI
9TUKETOK / kaTanoros, 0COBEHHO NCMOMb30BaHHE C NPEBbILLAIOLLEN
Harpyskom), a Takke HenpaBuIbHbIA MOHTaX

e PepykTop / MOTOP-pesyKTOp O4YeHb IpsiaHbIi U He 06CnyxuBarncs
e icnonb3oBaHue 6e3 cmasku

HenpasunbHbIi BIGOp ABUraTENS

YpaneHbl HeobxoanMble 3aLUTHbIEe 3armyLuKi

Wcnonb3oBanue He OpUrMHanbHBbIX AeTaneil B peayKTope

| moTop-peaykTope

e OkcnnyaTaums, yCTaHoBKa, 0BCNyXMBaHWE U PEMOHT BbINOMHANNUCH
HEYNOMHOMOYEHHbIM 1 HEKBANUULMPOBAHHLIM NEPCOHANOM.

/cnonb3oBaHue npoaykTa OTNUYHOro OT 3HaYeHui 6I/1pKI/1 | kaTanora

GENERAL INFORMATION

This user guide is prepared by our firm to provide information about
safety transportation of gear unit/gear unit with motors, storage,
installion / mounting, connection, operating, maintenance and repair
processes. All the purchase and technical datas are positioned at
product catalogues. Beside engineering applications, the informations
which placed in this instruction, should be well read and applicated.
The documents must be protected and to get ready for controlling by
authorized person. The information about electircal motor could be
found by guidance which preparied by motor - producing firm.

Motive The products are designed to use in commercial plants and are
operated convenientto the current standards and directions. Technical
datas and allowed usage conditions are placed in product's power tab and
usage guidance. Should be conformed to all the values.

This usage guidance is prepared by our firm according to 2006/42/EC
The European Union Machinery Safety Instructions and is not be in
placed 2014/34/EU " The direction about tools used in possible
explosive environment and protective systems".

Safety InformatUon

In gear units / gear units with motors and motors, there could be pieces
subjected to voltage, movable pieces and hot areas. During all the
works to be done; transportation, storage, placing, mountage,
connection, operating, maintenance - repair processes could be
implemented by qualified employees and responsible managers.

All the processes to be mplemented durXng
the work ng perQod

Related usage and mantenance nstructons,

Warnng and Safety Tags n gear unt/gear unt wth motor,
Instructons and Requrements related to the system,

Local and Internatonal requrements for safety and accdental
protecton.

Our Frm s not respons ble where the | sted tems
are mplemented below:
e Violati on of work health and safety rules in gear unit /gear unit with

motors,

e Improper usage (The usage which stated out of bounds in guidance

and all the usages except tag/catalogue values especially usage in high
moment and different cycle) and mismounting and misusage of gear
unit / gear unit with motor in plant,

Extremely dirty and maintenance free of gear unit / gear unit with motor,
Unlubricated usage,

Usage of product other than out of tag/catalogue values,

Wrong motor selection,

Take out of the necessary protective plugs,

Disuse of original pieces in gear unit/gear unit with motor,

The using, mounting, maintaining and taking place of the
uneducated, unauthorized and unqualified persons.

PykoBoacTBo no akcnnyatauum 1 obenyxusanmuio STADIO rev.03

cTp. 2138



NPUMEHEHUE STADIO STADIO SHORT MAN

KOHCTPYKTUBHbBIE OCOBEHHOCTH DESIGN FEATURES

MpeaBapuTensHas ycTaHoBKa kakux-nubo fetanei Ha It is not requested any part pre-mounting on the motor shaft.

Bary gsuratens He Tpebyetcs.

LinnuHapuyeckyto npucTaBky Henb3s UCNOMb30BaTh OTAENBHO,
a TONbKO B Mape C ApyruM peayktopom, Hanpumep BOX. with BOX.

No periodical maintenance is requested

The pre-stage unit cannot be used by itself, but only coupled
He TpebyeTcsa neprnogmyeckoro obenyxuBaHus

~ Components list

Komnnekryrowme petanu
7 a1 ’
[ ﬁ(fj: . @ G
0 e 5 Qo 0
@ = @ O
CaZlbHUK

NOAWUNHUK

0s
30x62x7

os
24x47x6

19x42x6

16004
6003

20x35x7 30x47x7

AnoR 17x30x7 Ox47x7 -
x30x Sl 41 STAS11

B006
6002

PykoBoactso no akcnnyataumu 1 obenyxmsanmio STADIO rev.03 cTp. 3m3 8



BbIBOP PEQYKTOPA
KoadhdumumeHT obenyxmusanns fs - 310 YcnoBoe 3HaueHue,
onucbiBatoLee paboumin pexiumM pegykTopa. SKenyaTaunoHHbIN
koadhuumeHT fs - 9T0 Npeanaraemblit KOAPULMEHT pedykTopa
npy HOMUHAMBHOM BXOZHOM KpyTsileM MomeHTe NM 1 yacToTe
BpaLleHus asuratens. fs OmKHO BbiTb = 3anpoLUeHHOro fsr.
fsr yumTbIBAET TaKME NapameTpbl, Kak:
e Yacbl exeaHeBHoN paboTbl uac/aeHb
*  TUM Harpyskn U MOMEHT WHepLK Macc.
*  KONWYECTBO MYCKOB B Yac
*  Hanu4yve TOPMO3a Ha ABuraTene,
e 3amac NpOYHOCTM C TOYKM 3peHns Be3onacHocTy
(Hanpumep, NoAbEM rpy30B)
Ecnn HOMUHANBHBIA KPYTALWMIA MOMEHT peaykTopa Mnz BoiLLe,
YeM 3anpoLLeHHbI Mr, HOMUHANbBHBINA KO3DULMEHT
MCMONb30BaHUSI MOXET ObITb pacCUnTaH B COOTBETCTBUM C
chopmyson
f_di tabella - M_, di tabella

Mr2
310 TaKoe peanbHoe 3Havenue fs, KOTopoe JOMKHO BbITb =
fsr. [INs Takyx pacyeToB PEKOMEHAYEM MCNONb30BaTh
koHdurypaTtop Motive http://www.motive.it/configuratore.php

f_ offerto=

@

GEARBOX SIZE SELECTION
The Service factor fs is a numeric value describing the gearbox
service duty. The service factor f is the one offered by the
gearbox at the rated input torque Nm and speed rpm of the
motor. fs must be = of the requested one fs.
fsr takes into consideration parameters like:
« the daily working hours h/d
» theload classification, and then the moment of
inertia of the driven masses.
e The number of starts per hour
»  The presence of brake motors
» The significance of the application in terms of safety,
for example lifting of parts
Whenever the rated torque of a gearbox M is higher than the
requested one M-, the rated service factor can be increased
according to the formula;

_ £ _onche table - M, on the table
Mrﬂ

f real

It is such real value of fs that must be = fs.
For such calculations we recommend the use of Motive
configurator http://www.motive.it/en/configuratore.php

Ecnu penykTop 3anyckaeTcst B 060Wx HanpaBneHnsix
BPALLEHMS!, NPX HEN3MEHHOM 3KCMyaTaLMOHHOM
ko3hrLmeHTe HEOBXOAUMO YMEHBLUMTL HOMUHAMBHBIN
KpYTALLMA MOMEHT HM Ha 25%.

Keeping the same service factor, if a gearbox is subject to
starting in both directions of rotation, you must decrease
the rated torque Nm of 25%

PykoBoactso no akcnnyataumu 1 obenyxmsanmio STADIO rev.03

cTp.4m38



YCTAHOBKA
CoenunHutenbHble BUHTLI Mexay STADIO n BOX
nocTaBsnsoTcs ¢ kaxabim BOX
BunTbl ang kpennenus STADIO k gsuratento NnocTaBnsloTCcs

¢ kaxabim STADIO. B ux coctas BXoAsT 4 BUHTA, LLabbI 1
rankiu. PaameHoCTb NpeacTaBneHa Huxe

M8X25

FASTENERS

The connecting fasteners of STADIO to BOX worm gearbox
are supplied with each BOX.

The connecting fasteners of STADIO to the motor are supplied
with each STADIO. They include 4 screws, grower washers and
nuts. Measures are listed below

M8X35

STADIO-63

STADIO-71 M8X25 M8X35
STADIO-80 M10X35 M10X45
STADIO-90 M10X35 M10X45

NEPUOANYECKMN KOHTPOIb

Kaxpgble 3000 yacoB paboTbl unu oauH pa3s B 6 MecsiLeB:

MPOBEPUTL MACIIO W €r0 YPOBEHb;

OYUCTUTb BHELUHWE NOBEPXHOCTU N BEHTUNALMOHHbIE KaHanbl;

OYMUCTMTE BO3MYLUHBIA KaHan canyHa;
OYNCTUTE BO3MYLUHbINA KaHan BEHTUMNALMOHHOI NpoGKm;
BU3YarbHO NPOBEPbTE, ECTb NN YTEUKN U3 YNNOTHUTENEN;

€CINN €CTb MOMEHTHbII pblyar, NnpoBepbTE ANACTUYHYIO BTYIKY

nnpu HeobX0aMMOCTN 3aMeHMTE.

Kaxpgble 20000 yacoB paboTbl unu oavH pa3 B 5 ner:

npu ucnonHeHun ATEX, sameHuTe CUHTETMYECKOE Maco

(Mpy Mcronb30BaHNM MUHEPANbHOTO Macna Beeraa
crieayiTe CTaHAapTHBIM UHCTPYKLMSIM);

3aMeHUTe CMasKy OTKPbITbIX NMOALLMNHUKOB, HE 3aTPOHYTbIX

Macnom (Hanpwmep, KOHWYECKMX NOALUNMHUKOB C HMJ'IOCOM).

ROUTINE CHECKS
Every 3.000 working hours, and at least every 6 months:

check oil level,

clean external surfaces and the ventilation air

passages; clean the breather plug air passage;

check visually the absence of leakage from seals visually;

for gear units with a torque arm, check the rubber buffer
and change 1, if necessary.

Every 20.000 working hours, and at least every 5 years:

if ATEX version, change synthetic oil with with mineral oil,
always follow standard instructions);

replace anti-friction bearing grease of open bearings not
touched by oil (for instance, taper roller bearings with nilos).

@

PykoBoactBo no akcnnyatauuu 1 obenyxmsanmio STADIO rev.03

cTp. 5138



CMA3KA LUBRIFICATION
STADIO-63 STADIO-71 STADIO-80 STADIO-90
CUHTETMYECKOE Macno — synthetic oil
T°C -25°C + +50°C
ISOVG... ISO VG320
FUCHS RENOLIN PG 320
= | SHELL OMALA S4 320
S E| MOBL GLYGOYLE 320
= | CASTROL ALPHASYN PG320
£ g| B3B8
§ =| B6-B7 0,04 0,08 0,18 0,20
V5-V6
nocrasnseTcs Motive yxe co cmaskoi
obcnyxueaHue
MOXM3HEHHas CMa3ka
) pre-lubricated by Motive
Maintenance — —
none, lifetime lubrication
OCEBOMW NIO®T BANOB GEARS BACKLASH
MAKCUMANbHbIA OCEBOM NIO®T
FABAPUT STADIO - STADIO SIZE
MAXIMUM ANGULAR BACKLASH
STADIO 63 1°
STADIO 71 0° 48'29"
STADIO 80 0° 40’
STADIO 90 0° 35
B3 B8
MOHTAXHbIE NONOXEHUA MOUNTING POSITIONS

Kak n Bce nogkntovaemble ABUraTenu u
peayktopbl, STADIO MOXHO yCTaHOBUTb B
N6OM NOMOXEHNM, HE YKa3blBas YTO-

nnbo B 3akase.

Bce STADIO nocraBnsioTcs € yxe

3alUTbIM  CUHTETUYECKUM  MacrioM

N Ve ;
Y ‘| ISOVG320 -25°C + +50°C.

Like all connectable maotive mators and gearboxes,
STADIO is supplied by Motive with synthetic oil
suitable for the whole lifetime. Nao maintenance

Like all connectable motive motors and
gearboxes, STADIO can be mounted in any
position without specifying anything in the

order.

All STADIO are supplied by motive already
filled by a suitable quantity of synthetic oil
ISOVG320 -25°C + +50°C

requested

PykosoacTBo no akcnnyataumu 1 obenyxmsanuio STADIO rev.03 cTp. 6138



Ha cante www.motive.it, no cepumHomy
HOMEPY, YKA3AHHOMY HA 30BOACKOM
TABAMYKE, MOXHO MOCMOTPETh OKOHYATEABHbIM
o14eT 06 UCTLITAHMAX KODKAOTO AMOTOPA

On www.motive.it, using the serial number on
the nameplate of the gearbox, it is possible to
download the Final Test Report of each unit.

T& Firal Test Raport | Miotrve Motors 5r - Mozita Frefax == pn
Ble Modifics Yiuskazs Cronologis Segnefbi Fumenti Aiute
| @8 Finai Test Repor | Motive Motors 1 | 8] Diectindustry - News B3

€ & s motivemotorsit/firal-tes-repon/indes phpTing=sp2 ¢ |8~ coaie P AR &~

@ motive s.rl.

Via L= Ghiselle. 20

25014 Castenedola ([BS). aly

tel +39 030 2677087 | fax +39 030 2677125
mal motwe@e-moteve it | PIVA. 03580280174
W -mative &

motive

Final test reﬁgort
ITA L ENG | FRA | TED ARA

KomnaHus Motive paccmoTpur npeTteHsmm
KAMEHTA B PAMKOX CBOMX FTAPAHTUMHBIX
o6a3ateAbcTts (Cm. Kataaor Motive) npu
COBAIOAEHUM BCEX TPEOOBAHMIM, KOCAKOLLIMXCS
XPAHEHMS, MOATOTOBKM, BBOAQ B SKCMAYATALMIO U
MCMOAb3OBAHMA. AOBbIE XXAAOBLI HEOBOXOAMMO
COoOBLLATE BMECTE C CEPUMHBIM HOMEPOM HA
TABAMYKE M BCEMM COOTBETCTBYIOLLIUMM AETAAIMM
M AOKQ3QTEABCTBAMM.

® Motive s,
motive@motive.it

www.motive.it
T +39 030 2677087

. F +39 0302677125
motive F90
power hanimission

Motive takes into consideration customer’s
reclamation claims in the frame of the term of
guarantee obligations (see Motive catalogue),
only if all prescribed conditions for storage,
preparafion, putting info operation and use are
observed. Eventual complaints shall be
accompanied by the information of the
product serial number and any relevant
information and evidence.

1SO 9001
N

PykoBoactso no akcnnyatauuu 1 obenyxmsanmio STADIO rev.03

cTp. 7138



&)

KoHTakTHasa uHdgpopmauus

ALPEC NPON3BOJMUTENA U CEPBUCHON CNYXBEbI (3ABO[)

Motive s.r.l

Via Le Ghiselle, 20

23014 Castenedolo (BS) - Izaly

Tel.: +38.030.267708B7 - Fax: +39.030.26877125
web site: www. motive. it

e-mail: motive@motive.it

N3OENWE

Twun

Mopenb
CepunHbIN HOMEP
CpoK rapaHTum

OaTta npogaxu :
(AaTta BBOAR B 3KCNAyaTauuio) :

Homep v aata HaknagHoW

OPUUMANBHbLIN NPEACTABUTENDL (PETMOHAIBHbLIW OUINEP)

HanmeHoBaHue
Anpec
TenecoH

®dakc

E-mail

DaTta noanuchb neyaTb

PykoBoacTBo no akcrnyatauum n obenyxusanmio STADIO rev.03 ctp.8m3 8



®

@

motive

i
|




motive

pawer hamemiviion

®  Motive ...

motive@motive.it
www.motive.it

T +39 030 2677087
F +39 030 2677125

D,

)



